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 �����1 

«g×‘<ÜŠq<†( )S<íÊ^ŠÚ<î×Â<300 d m=J<†¢]<ìçÎ<ì‚�F
��

<ëæ^Ši<æ<íje^m<îÏfi2 000 F N=J  

ìçÏÖ]<ØÇ�<gŠu_F
��

°jéÖ^jÖ]<°jÖ^£]<àÚ<ØÒ<»<V  

 

    
 

 �����2 

g×‘<ÜŠq<á‡æ<ØÇ�<gŠu_( )S äj×jÒ10 m kg=íŞÏÞ<àÚ<å…ç’Î<ˆÒ†Ú<Ù^ÏjÞ]<Ùø}<A<±c<íŞÏÞBíéÖ^jÖ]<l÷^£]<àÚ<ØÒ<»<J< <

Ö]<Ù^¥<�jÃÞäi‚�<æ<^Û¿jßÚ<íÖ^Ïn110 .g N kg −=J< <
 

  

  

  

  

  

  

  

  

  

   
 

 �����3 

^e†ãÒ<�çÛÂ<g’ßÖ<íÃÊ]…<ØÛÃjŠiðäj×jÒ<190 m kg=<<äÂ^Ëi…]<<æ6 h m= <Ä•æ<»
•æ<àÚ<^ÎøŞÞ]<ë�çÛÂêÏÊ_<ÄJ< <

äi‚�<æ<^Û¿jßÚ<íÖ^ÏnÖ]<Ù^¥<�jÃÞ110 .g N kg −=J< <
ì‚u]æ<íÏéÎ�<kÎ†Çj‰]<íé×ÛÃÖ]<á_<^Û×Â<íÃÊ]†Ö]<ì…‚Î<gŠu_J 

 

 �����4 

íéñ^Úæ†ãÒ<íŞ¦<íËßÃÖ<íÃÊ^ßÖ]<ì…‚ÏÖ]êâ<120 P MW=<J<íËßÃÖ]<å„â<…]‚i
Å^Ëi…]<àÚ<ð^¹]<½çÏ‰<�m`i<k 900 h m=J< <

äi‚�<æ<^Û¿jßÚ<íÖ^ÏnÖ]<Ù^¥<�jÃÞ110 .g N kg −=<J<ð^Û×Ö<íéÛr£]<í×jÓÖ]<æ

êâ31000 .kg mρ −=J  

1D ì‚uçÖ^e<gŠu_3 1.minm −^è†¿Þ<Ý‡øÖ]<ð^¹]<géf‘<J 
2D çâ<�æ�†¹]<á_<^Û×Â<ê×ÃËÖ]<géf’Ö]<gŠu_80%<<E<ífŠÞ<ëæ^Šè<�æ�†¹]

íÓ×ãjŠ¹]<ì…‚ÏÖ]<î×Â<íÃÊ^ßÖ]<ì…‚ÏÖ]JD 
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 �����5 

<äj×jÒ<�ˆjÚ<‚Ã’è80 m kg= íèæ]ˆÖ^e<øñ^Ú<æ<^ÛéÏjŠÚ<]…‚vßÚ20α = °<ÄŞÏÖ<íje^m<íÂ†Še<H
íÊ^Š¹]1 500 AB m=J< <

q<ìçÏÖ<�ˆj¹]<Ä–−íèæ]ˆÖ]<�‚¬<äâ^Ÿ]<Øfu<^ãÏfŞè<†β…‚vß¹]<å^Ÿ]<ÄÚ<J<î×Â<ë‚é×¢]<xŞŠÖ]<ÐfŞè
ŠÖ]<íãrjÚ<å^Ÿ]<»<íje^m<Õ^Óju]<ìçÎ<°j¢ˆ¹]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<HíÒ†v×Ö<‹Ò^Ã¹]<îvß¹]<»<æ<íÂ†<

^ãi‚�<æ30 f N=<J< <

<<�jÃÞäi‚�<æ<^Û¿jßÚ<íÖ^ÏnÖ]<Ù^¥110 .g N kg −=J< <
1D ØÓ�Ö]<»<^ãi^ãrjÚ<ØnÚ<Üm<äÚ‡]çÖ<æ<�ˆj¹]<î×Â<íÏfŞ¹]<ïçÏÖ]<Äé¶<�†q_J 
2D Õ^Óju÷]<ìçÎ<æ<á‡çÖ]<àÚ<ØÒ<ØÇ�<gŠu_J 
3D �ˆj¹]<î×Â<Øf£]<^ãÏfŞè<�Ö]<†¢]<ìçÎ<ØÇ�<gŠu_J 
 

 �����6 

^ãÂ^Ã�<íÞ]çŞ‰_<Ùçu<�]‚jÚøÖ<Øe^Î<�Æ<¼é}<Ì×è5 r cm=^â…ç¦<Ùçu<á]…æ‚×Ö<í×e^Î<æ( )∆<<gvŠè<Üm<H
^ãi‚�<íje^m<ìçÎ<�m`i<k <†£]<äÊ†�<àÚ100 F N=J< <

ìçÏÖ]<ØÇ�<gŠu_F
��

<]<ˆrßi<^Ú‚ßÂíÞ]çŞ‰ù20<ì…æ�<J 
 
 

 �����7 

^ãÚˆÂ<°içÎ<íqæ�ˆÚ<å�æ†Ú<î×Â<ì…^é‰<Õ†¦<ÐfŞè150 .N mëæ^Ši<íje^m<íÂ†Še<Õ†�]<…æ‚è3 600<íÏéÎ‚Ö]<»<ì…æ�J< <
<°i‚uçÖ^e<Õ†�]<ì…‚Î<gŠu_kWE<éÒ½]æ<ç×D<<æch<<Eë…^ā<á^’uJD<< 

 
 �����8 

Í^Ë×Ú<…]‚è^ãi‚�<íje^m<ìçÏe<<200 F N=<Ù^ÏjÞøÖ<^‰^º<îÏfè<^â�m`i<¼}<æJ< <
 

< <
 

1D ìçÏÖ]<ØÇ�<gŠu_F
��

Í^Ë×¹]<ˆrßè<^Ú‚ßÂ<25<^Û×Â<Hì…æ�ëæ^Šè<ì…æ‚¹]<Å^Ã�<á_<35 cm<J 
2D íÖçÛ£]<ä×’i<ë„Ö]<î’Îù]<Å^Ëi…÷]<gŠu_<HÕ^Óju÷]<ïçÎ<Ù^Ûâde( )S<ëæ^Ši<^ãj×jÒ<á_<^Û×Â150 kgJ 

äi‚�<æ<^Û¿jßÚ<íÖ^ÏnÖ]<Ù^¥<�jÃÞ110 .g N kg −=J 
 

 �����9 

<íèæ]ˆÖ^e<Øñ^Ú<æ<çjŠÚ<xŞ‰<î×Â30α = °<íÖç·<†Ÿ<HêÏÊù]<¼¤]<àÂ( )S^ãÞ‡æ1 000 P N=íje^m<íÂ†Še<<J<äj×jÒ<Øfu<íŞ‰]çe
^ãÂ^Ã�<íÞ]çŞ‰_<Ùçu<ÍçË×Ú<æ<í×ÛãÚ20 R cm=<JíÞ]çŞ‰ù]<…]‚i]<áæ‚e<Õ^Ójuke^m<^ãÚˆÂ<íqæ�ˆÚ<^ãé×Â<ÐfŞè<Õ†¦<íŞ‰]çe<J< <

íje^m<^ãi‚�<Õ^Óju]<ìçÏÖ<íÖçÛ£]<Ä–¡æ<ëæ^Ši<200 f N=J< <
1D æ<íÞ]çŞ‰ù]<æ<íÖçÛ£]<àÚ<ØÒ<î×Â<íÏfŞ¹]<ïçÏÖ]<�†q_ØÓ�Ö]<»<^ãi^ãrjÚ<ØnÚ<J 
2D íÖçÛ£]<î×Â<Øf£]<^ãÏfŞè<�Ö]<ìçÏÖ]<ì‚�<gŠu_J 
3D �ˆ¹]<ÝˆÂ<gŠu_íÞ]çŞ‰ù]<î×Â<Õ†�]<^ãÏfŞè<�Ö]<íqæJ 

4D <êâ<íÖçÛ£]<íÂ†‰<á_<^Û×Â<Õ†�]<ì…‚Î<sjßj‰]10,5 .v m s −=J 
 

 




